o ™A 2x o] 27127

D 115° @ 120° @125° @ 130° ® 135°
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70° &z

@® 100° @ 105° ® 110° @ 115° ®)120°

50° + 70° = 120°
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® DE = Tcm @ 5.0ptAE = 45.0ptFG

® AC=CE @ FG + DE = l4cm
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. B+ +C = /DAE + /tEAC = /DAC
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A E
B C
@ /DAE, tEAC, /B @ADAE, (EAC, (EAC
® (EAC, /B, /B @ /ABC, tEAC, /B

® ¢ABC, /EAC, /EAC

/B = (DAE(EHH), .C = LEAC(AH)




12. o3 1994 AB =BC = CD, AD = AE, DE =BE ¢ 1, /C 9]
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@ 24° @ 30° ® 32° ®)36° ® 42°

S5 ~
/CDB = zx , /ADE = ¢y , /BDE = /7 2} 5}

[x+ Ly + /z=180°---O

AB =BC °]|2& /A = /C, /.CBA = 180° - 2.C

CD =BC o|lE&

180° — £C 1
[ = ——————— = °—_/ e
X 5 90 5 C---©
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180°- /A 1
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DE = BE o|2 2
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. £C = 36°
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D 270° @ 275° @280° @ 285° ® 290°

SZ4go o FL2 1200 o]BZ 4x = T20° -
(130° 4 110° + 80° + 15° 4 105°) = 280°
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360° x 5 = 1800°

WA n = 12 o] B2 40|




@ T Qo)A o7t 2L To] vt Ao ol 2t

@ @ QoA 59 Aol F4Z] 2710 el gk

® T QoA F42te] 2717k 2 W FA=e] Yol 2 w7}
=k,

@) 9e14 Fa2e) 271 @] Lolof Ar|elgiet.

® & QoA Lolrt e wol| Tk HAZe] Yol Prh

@ @] Pol: FAzte] 27)9] Fulelsta) gk,




